Whitman College 
Econ 308 
Exam 3 
December 3, 1999 

Write all answers in your blue book. Show all of your work. 




1. Consider the Keynesian cross model in which aggregate planned consumption expenditures, C, equal 50 + 0.6(Y-T), where Y is real aggregate output, and T=10 is taxes. Planned investment expenditures, I, equal 100, and planned government expenditures, G, equal 10. 

(a) (5pts) Calculate the equilibrium level of real aggregate output. 
(b) (5pts) What is the tax multiplier in this economy? 
(b) (5pts) If the natural rate of output is 370, what tax policy would return this economy to the natural rate? 



2. (a) (5pts) Define the LM curve. 
(b) (10pts) True or false: the macroeconomic equilibrium level of output in the IS-LM model always occurs at the natural rate of output. Explain your answer. 



3. Consider an economy in which the natural rate of unemployment is estimated to be approximately 4.5%. Suppose the Federal Reserve conducts the following monetary policy: the Fed raises the Federal Funds Rate whenever the unemployment rate falls below 4.2%, and the Fed lowers the Federal Funds Rate whenever the unemployment rate rises above 4.8%. 

(a) (5pts) Is this policy an example of an activist or nonactivist policy? Explain how you can tell, with reference to a definition of activist policy. 

(b) (5pts) Is this policy an example of a policy rule or a discretionary policy? Explain how you can tell, with reference to a definition of a policy rule and a definition of discretionary policy. 

(c) (20pts) Consider a Keynesian Aggregate Supply and Aggregate Demand (AS-AD) model with nominal wages fixed by contracts. Describe the effects of the Fed's policy over the course of the business cycle. Refer to the Keynesian AS-AD diagram in your explanation. 

(d) (20pts) Consider the monetarist worker misperception model. Describe the effects of the Fed's policy over the course of the business cycle. Refer to the monetarist AS-AD diagram in your explanation. 



4. Consider the Lucas aggregate supply curve model. 

(a) (10pts) If the Federal Reserve wished to lower the inflation rate without raising the unemployment rate, what would the Fed have to do? Explain, with reference to the Lucas AS-AD diagram. 

(b) (10pts) If the Fed wished to lower the unemployment rate, what would the Fed have to do? Explain, with reference to the Lucas AS-AD diagram.
